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LAWS OF MOTION

1. In which of the following examples can you
sense motion?

A. The flight of a bird


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ceYfnkNvxBFz

B. A stationary train
C. Leaves flying through air

D. A stone lying on a hill

o Watch Video Solution

2. How will you explain presence and absence
of motion?

A stone lying on a hill

o Watch Video Solution



https://dl.doubtnut.com/l/_ceYfnkNvxBFz
https://dl.doubtnut.com/l/_IMXy5elVFc8Z

3. How will you explain presence and absence
of motion?

A stone lying on a hill

o Watch Video Solution

4. How will you explain presence and absence
of motion?

Leaves flying through air

o Watch Video Solution



https://dl.doubtnut.com/l/_7QzVAHRE6x0i
https://dl.doubtnut.com/l/_1BpyJwPiEN1k
https://dl.doubtnut.com/l/_Lr3szIXRVr7y

5. How will you explain presence and absence
of motion?

A stone lying on a hill

o Watch Video Solution

6. You are travelling in a bus. Is the person

sitting next to you in motion?

o Watch Video Solution



https://dl.doubtnut.com/l/_Lr3szIXRVr7y
https://dl.doubtnut.com/l/_NYUjZGRhLiJM

7. What do you take into consideration to

decide if an object is moving or not?

o Watch Video Solution

8. Measure the distance between points A and

B in different ways as shown in figure


https://dl.doubtnut.com/l/_zfgIi5egrNCy
https://dl.doubtnut.com/l/_3wUKWxT6jxDG

Sheetal and Prashant's house B it o
(b) (A) Sangeeta'’s hou
(B)

° Watch Video Solution

9. Measure the distance along the dotted line.

Which distance is correct according to you


https://dl.doubtnut.com/l/_3wUKWxT6jxDG
https://dl.doubtnut.com/l/_kzckM5NJTXiy

Sheetal and Prashant's house y Ra- :
(b) (A) Sangeeta'’s house
(B)

o Watch Video Solution

10. Sheetal first went ot her friend Sangeets's

house on her way to school. Prashant went


https://dl.doubtnut.com/l/_kzckM5NJTXiy
https://dl.doubtnut.com/l/_kFdUZ1gmAYLJ

straight from home to school. Both are
walking with the same speed.
Who will take less time to reach the school

and why?

Sheetal and Prashant's house e b e
(b) (A) Sangeeta'’s hou
(B)

° Watch Video Solution



https://dl.doubtnut.com/l/_kFdUZ1gmAYLJ
https://dl.doubtnut.com/l/_mnsqI5MdmWSt

11. Sheetal first went ot her friend Sangeets's
house on her way to school. Prashant went
straight from home to school. Both are
walking with the same speed. In the above
examples, is there a difference between the
actual distance and the distance travelled?

What is it?

Sheetal and Prashant's house i a3 e
(b) (A) Sangeeta'’s house
(B)


https://dl.doubtnut.com/l/_mnsqI5MdmWSt

° Watch Video Solution

12. What are vectors and scalers?

° Watch Video Solution

13. Which of the quantities distance, speed ,
velocity, time and displacement are scalars and

which are vectors?

° Watch Video Solution



https://dl.doubtnut.com/l/_mnsqI5MdmWSt
https://dl.doubtnut.com/l/_drCEVwaPpP92
https://dl.doubtnut.com/l/_Z5lTL3y7TWY7
https://dl.doubtnut.com/l/_WpT5UCCTU2KQ

14. Take a plastic boat and make a hole at this
rear end. Inflate a balloon and fix it on the hole
in the boat. Release the boat in water. What
happens to the boat as the air in the balloon

escapes slowly? Why?

° Watch Video Solution

1. Complete the sentences and explain them:

The minimum distance between the start and


https://dl.doubtnut.com/l/_WpT5UCCTU2KQ
https://dl.doubtnut.com/l/_HZtsz9mG3ZfO

finish points of the motion of an object is

called the ....... of the object.

° Watch Video Solution

2. Complete the sentences and explain them:

Deceleration is .............. acceleration.

o Watch Video Solution

3. Complete the sentences and explain them:

When an object is in uniform circular motion,


https://dl.doubtnut.com/l/_HZtsz9mG3ZfO
https://dl.doubtnut.com/l/_Ceeq8033iJv4
https://dl.doubtnut.com/l/_OK0Cj34BeKZM

its ... changes at every point

o Watch Video Solution

4. Complete the sentences and explain them:

During collision ........ remains constant.

° Watch Video Solution

5. Complete the sentences and explain them:
The working of a rocket depends on Newton’s

........ law of motion.


https://dl.doubtnut.com/l/_OK0Cj34BeKZM
https://dl.doubtnut.com/l/_f1x3hPPhrMk2
https://dl.doubtnut.com/l/_fytQnvDIusgF

° Watch Video Solution

6. Complete the sentences and explain them:

The Sl unit of deceleration is.................. )

o Watch Video Solution

7. Complete the sentences and explain them:

The CGS unit of momentum is .................

° Watch Video Solution



https://dl.doubtnut.com/l/_fytQnvDIusgF
https://dl.doubtnut.com/l/_94ftahX1hi9V
https://dl.doubtnut.com/l/_fRHaNhS2layC
https://dl.doubtnut.com/l/_cIMxmnjuwwoX

8. Complete the sentences and explain them:

The Sl unit of force is the. ...................

o Watch Video Solution

9. Complete the sentences and explain them:

Force = Rate of change of ...

° Watch Video Solution



https://dl.doubtnut.com/l/_cIMxmnjuwwoX
https://dl.doubtnut.com/l/_TmE2K6Ej6CKu

10. Complete the sentences and explain them:

.................. =mass X velocity.

o Watch Video Solution

11. Complete the sentences and explain them:

1 newton =....... dynes.

o Watch Video Solution



https://dl.doubtnut.com/l/_8XdGbGK9NdLn
https://dl.doubtnut.com/l/_HSVgJkGvQQ3O

12. Choose the correct alternative and write it
along with its alloted alphabet:
Newton’s ... law of motion is called the
law of inertia.

A. first

B. second

C. third

D. none of the above

Answer: A

‘ o Wiak hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_gNncL0pJhTd4
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13. Choose the correct alternative and write it
along with its alloted alphabet:

Momentum =............... (in the usual notation )

C. mass times velocity

D. mass times speed

Answer: C

| s ]


https://dl.doubtnut.com/l/_gNncL0pJhTd4
https://dl.doubtnut.com/l/_4a9s3a58WUxi

| ¥ Watch Video Solution ]

14. Choose the correct alternative and write it

along with its alloted alphabet:

(in the usual notation).

m
a

B.

C. wetght * a

D. mass x a

Answer: D



https://dl.doubtnut.com/l/_4a9s3a58WUxi
https://dl.doubtnut.com/l/_GMilvDsOfozT

\ o Watch Video Solution

15. Choose the correct alternative and write it

along with its alloted alphabet:

Action and reaction ...................

A.are equal in magnitude and have the

same direction

B. cancel each other

C. are equal in magnitude and opposite in

direction


https://dl.doubtnut.com/l/_GMilvDsOfozT
https://dl.doubtnut.com/l/_FIJYLitWbhpK

D.are unequal in magnitude and have

different directions

Answer: C

° Watch Video Solution

16. State whether the following statements are
True or False.

Momentum is a scalar quantit

° Watch Video Solution



https://dl.doubtnut.com/l/_FIJYLitWbhpK
https://dl.doubtnut.com/l/_rFZ3AgKplP03

17. State whether the following statements are
True or False.

F or ce = mass x velocity

o Watch Video Solution

18. State whether the following statements are
True or False.
Change in momentum occurs in the direction

of force.

° Watch Video Solution



https://dl.doubtnut.com/l/_wf8gAJn0EydI
https://dl.doubtnut.com/l/_14jqALbU5oU0

19. State whether the following statements are

True or False.

lem
2

ldyne = 1g X
S

o Watch Video Solution

20. State whether the following statements

are True or False.

IN = 1kg x 1%
82

o Watch Video Solution



https://dl.doubtnut.com/l/_14jqALbU5oU0
https://dl.doubtnut.com/l/_545tZzEd7MV5
https://dl.doubtnut.com/l/_Fg56F7TH6X2d

21. Find the odd one out and give reason:

Speed, distance, mass, velocity

o Watch Video Solution

22. Find the odd one out and give reason:

Momentum, acceleration, force, time.

o Watch Video Solution



https://dl.doubtnut.com/l/_GD7BgHMC7Zl9
https://dl.doubtnut.com/l/_qx2MEAQIwTau

23. Complete the following table:

(1) | u(m/s) | a(m/s?) | t(second)| v=u + at (m/s)
(i) 2 4 3 -
(| - 5 2 20

o Watch Video Solution

24. Complete the following table:

(2) | u(m/s) | a(m/s?) | t(second) | s = ut + Jat*(m)
(1) 5 12 3 -
(ii) 7 - 4 92

o Watch Video Solution



https://dl.doubtnut.com/l/_y267YpFNlm3o
https://dl.doubtnut.com/l/_2eRtKYRjY973
https://dl.doubtnut.com/l/_PnOwFdCYF60Y

25. Complete the following table:

(3) | u(mss) | a(m/s?) | s(m) | v? = u? + 2as(m/s)?
(i) 4 3 - (8)*
(ii) - 5 8.4 (10)*

o Watch Video Solution

26. Match the first column with appropriate
entries in the second and third columns and

remake the table:


https://dl.doubtnut.com/l/_PnOwFdCYF60Y
https://dl.doubtnut.com/l/_TJDWWmvKScXc

No.| Column I | Column II Column III
(1) | Negative The velocity of | A car, initially
acceleration|the object at rest reaches a
remains velocity of
constant 50 km/h in
10 seconds
(2) [ Positive The velocity of | A vehicle is
acceleration | the object moving with a
decreases velocity of
| 25m/s
(3) |Zero The velocity of | A vehicle
acceleration | the object moving with the
increases velocity of

10 m/ s, stops
after 5 seconds

o Watch Video Solution



https://dl.doubtnut.com/l/_TJDWWmvKScXc

27. Match the following :

(1) Column A Column B
(1) Velocity (a) kgem/s
(2) Acceleration (b) N

(c)m/s

(d) m/s?

o Watch Video Solution



https://dl.doubtnut.com/l/_kUqR6D1xn699

28. Match the following :

(2) Column A Column B
(1) Force equation (a) Newton’s third law of
(2) Rate of change of motion
momentum (b) Newton's second law
of motion

(c) Newton’s first law of
motion
(d) F=ma

° Watch Video Solution

29. Answer the following questions:

When is a body said to be in motion ?

o Watch Video Solution



https://dl.doubtnut.com/l/_4xrbzNGfQRBf
https://dl.doubtnut.com/l/_5Z4fMqJ3Xine

30. Answer the following questions:

When is a body said to be at rest ?

° Watch Video Solution

31. Answer the following questions:

Give one example in which motion is visible.

o Watch Video Solution



https://dl.doubtnut.com/l/_5Z4fMqJ3Xine
https://dl.doubtnut.com/l/_hsVHrSWBIusr
https://dl.doubtnut.com/l/_5TdypBOwFr3c

32. Answer the following questions:
Give one example in which we are unable to

perceive motion.

o Watch Video Solution

33. Answer the following questions:
What is meant by (i) distance (ii) displacement
in relation to the motion of a body between

two given points?

° Watch Video Solution



https://dl.doubtnut.com/l/_2Yumr1uQMNjZ
https://dl.doubtnut.com/l/_9H4pMFfA6InO

34. Distinguish between:

Distance and Displacement:

o Watch Video Solution

35. Answer the following questions:
Give one example of a physical quantity which

does not have direction.

o Watch Video Solution



https://dl.doubtnut.com/l/_9H4pMFfA6InO
https://dl.doubtnut.com/l/_iL3GHAbllg0G
https://dl.doubtnut.com/l/_j5eK7YhS0dzK
https://dl.doubtnut.com/l/_Di7krqABPcGD

36. Answer the following questions:

What is speed?

° Watch Video Solution

37. Answer the following questions:

Define speed . State its Sl and CGSunits.

o Watch Video Solution

38. Answer the following questions:

What is average speed?


https://dl.doubtnut.com/l/_Di7krqABPcGD
https://dl.doubtnut.com/l/_NKzuIG0xH7Fm
https://dl.doubtnut.com/l/_0mbWmRmes370

° Watch Video Solution

39. Answer the following questions:

What is velocity ?

o Watch Video Solution

40. Answer the following questions:

Define velotcity . State its Sl and CGS units.

° Watch Video Solution



https://dl.doubtnut.com/l/_0mbWmRmes370
https://dl.doubtnut.com/l/_qcLilDd5LD4O
https://dl.doubtnut.com/l/_wV2GNAShMFBC
https://dl.doubtnut.com/l/_j3YDTwyeeiLE

41. Answer the following questions:
When is the magnitude of velocity equal to

the speed?

° Watch Video Solution

42. Answer the following questions:
When is the speed of a body greater than the

magnitude of the velocity of the body?

° Watch Video Solution



https://dl.doubtnut.com/l/_j3YDTwyeeiLE
https://dl.doubtnut.com/l/_5MoTC8PwKbCx
https://dl.doubtnut.com/l/_1Q0iYOdSI2EM

43. Answer the following questions:
What are the different ways in which the
velocity of a body can be changed? Give one

examples in each case.

o Watch Video Solution

44, Answer the following questions:
Give one examples of a physical quantity which

has magnitude and direction.

o Watch Video Solution



https://dl.doubtnut.com/l/_1Q0iYOdSI2EM
https://dl.doubtnut.com/l/_wjxdRjIPa70E
https://dl.doubtnut.com/l/_7lI2wGgH3D94

45, Answer the following questions:

What is velocity ?

° Watch Video Solution

46. Answer the following questions:
What is meant by uniform motion? Give one

example.

° Watch Video Solution



https://dl.doubtnut.com/l/_7lI2wGgH3D94
https://dl.doubtnut.com/l/_cS3ayskaj5uZ

47. Answer the following questions:
What is meant by non uniform motion? Given

one example.

o Watch Video Solution

48. Answer the following questions:

What is accelerated motion?

° Watch Video Solution



https://dl.doubtnut.com/l/_GEOFmoB7fyat
https://dl.doubtnut.com/l/_DDvzrQmCZLvu

49. Answer the following questions:

Define acceleration.

o Watch Video Solution

50. Answer the following questions:

What is accelerated motion?

o Watch Video Solution



https://dl.doubtnut.com/l/_njiNGDJiLqGv
https://dl.doubtnut.com/l/_ramIpTtFuINr

51. Answer the following questions:
When is a body said to have uniform

acceleration? Give one examples.

o Watch Video Solution

52. Answer the following questions:
State the formula for acceleration. Hence,

obtain the SI and CGS units of acceleration.

o Watch Video Solution



https://dl.doubtnut.com/l/_EGE6u2MUdMhd
https://dl.doubtnut.com/l/_NVHX2DAP2alJ
https://dl.doubtnut.com/l/_iQjbEpOdeLpK

53. Answer the following questions:
When is a body said to have nonuniform

acceleration? Give one example.

o Watch Video Solution

54. Answer the following questions:
When is the acceleration (i) positive (2)
negative (iii) zero ? Give one example in each

case.

° Watch Video Solution



https://dl.doubtnut.com/l/_iQjbEpOdeLpK
https://dl.doubtnut.com/l/_lMG1tNsrgmMa

55. Answer the following questions:

What is retardation or deacceleration?

° Watch Video Solution

56. Answer the following questions:

What is negative acceleration called ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Dh7ZwivT5Hqv
https://dl.doubtnut.com/l/_e3AUDAsg56qf

57. Answer the following questions:
What is a distance-time graph? What are its

uses?

o Watch Video Solution

58. Answer the following questions:
The following table shown the distance
covered by a car in fixed time intervals. Draw a

graph of distance against time taking 'time'


https://dl.doubtnut.com/l/_xEb6iISxsdK4
https://dl.doubtnut.com/l/_XJsav3Kq6Lxm

along the X-axis and 'distance' along the Y-axis.

: Time (seconds) . Distance {_n}eﬁs_q_

________ T,.__, Ptk = U
10 | 15
20 | 30
30 | 45

40 | e B9 '
: 50 - 75
60 90
70 | 105

o Watch Video Solution

59. Answer the following questions:
The following table shows the distances

covered by a bus in equal time intervals. Draw


https://dl.doubtnut.com/l/_XJsav3Kq6Lxm
https://dl.doubtnut.com/l/_KjC3MopGAwmx

a graph of distance against time taking the
time along the X-axis and distance along Y-
axis. Does the graph show a direct

proportionality between distance and time?

Time (seconds) Distance ( metres)
S 0
5} 7
10 12
15 20
20 30
25 41
30 50
3o o8

o Watch Video Solution



https://dl.doubtnut.com/l/_KjC3MopGAwmx

60. Answer the following questions:

A train is moving with a uniform velocity of
60km/hour for 5 hours. The velocity-time
graph for this uniform motion show in figure.
I. With the help of the graph, how will you

determine the distance covered by the train


https://dl.doubtnut.com/l/_iHlzecp5lrNm

between 2 and 4 hours

70 _Y-axis 1 'u;: 10 km/h
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o Watch Video Solution



https://dl.doubtnut.com/l/_iHlzecp5lrNm

61. Answer the following questions:

A train is moving with a uniform velocity of
60km/hout for 5 hours. The velocity-time
graph for this uniform motion show in figure.
Is there a relation between the distance
covered by the train between 2 and 4 hours

and the area of a particular quadrangle in the


https://dl.doubtnut.com/l/_r1mg6cy5CdDR

graph? What is the acceleration of the train?

L-Y -3 J Scale : Kmuslcm-lh
gy ke YmslmE:n lUkniu'h

Fig. 1.4 : Velocity-time ;rnph for uniform velocity

o Watch Video Solution



https://dl.doubtnut.com/l/_r1mg6cy5CdDR

62. Answer the following questions:

The changes in the velocity of a car in specific
time intervals are given in the following
table.The velocty-time graph in figure shows
that,

The velocity changes by equal amounts in
equal time intervals. Thus, this is uniformly
accelerated motion. How much does the
velocity change in every 5 seconds?

Find the distance covered by the car in the

time interval 10 seconds to 20 seconds.


https://dl.doubtnut.com/l/_0kK9MgK6YzDb
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° Watch Video Solution



https://dl.doubtnut.com/l/_0kK9MgK6YzDb

63. Answer the following questions:

The changes in the velocity of a car in specific
time intervals are given in the following table.
Explain For all uniformly accelerated motions,

the velocity-time graph is a straight line.


https://dl.doubtnut.com/l/_0kK9MgK6YzDb
https://dl.doubtnut.com/l/_uX7R4sCcro02
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° Watch Video Solution



https://dl.doubtnut.com/l/_uX7R4sCcro02

64. Answer the following questions:

The changes in the velocity of a car in specific
time intervals are given in the following table.
The velocty-time graph in figure shows that,
For nonuniformly accelerated motions, the
velocity-time graph may have any shape
depending on how the acceleration changes

with time.Explain.


https://dl.doubtnut.com/l/_uX7R4sCcro02
https://dl.doubtnut.com/l/_P3dPLhBTNeja

Velocity (m/s)

& 8 5|8
f|& |8 8 R

: Sult Xmlcm:imonds =

et

i '?l.i"% Tt
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=3
"'H-H

o Watch Video Solution



https://dl.doubtnut.com/l/_P3dPLhBTNeja

65. Answer the following questions:
For a body moving along a straight line with a
uniform acceleration, write the equations of

motion.

o Watch Video Solution

66. Answer the following questions:
In the case of a body moving along a straight

line with a uniform acceleration, obtain the


https://dl.doubtnut.com/l/_P3dPLhBTNeja
https://dl.doubtnut.com/l/_OWOgndFQ9HAZ
https://dl.doubtnut.com/l/_T4jTaAWp6FED

kinematical equations of motion by graphical

method.

° Watch Video Solution

67. Answer the following questions:

What is uniform circular motion?

o Watch Video Solution

68. Answer the following questions:

Define unifrom circular motion.


https://dl.doubtnut.com/l/_T4jTaAWp6FED
https://dl.doubtnut.com/l/_Q1fGH22z221R
https://dl.doubtnut.com/l/_lvmI1daPwaWx

State the formula for the magnitude of
velocity (speed) of a particle performing

unifrom circular motion.

o Watch Video Solution

69. Answer the following questions:
State any five examples of uniform circular

motion.

o Watch Video Solution



https://dl.doubtnut.com/l/_lvmI1daPwaWx
https://dl.doubtnut.com/l/_fMBZNletDefF

70. What is the direction of velocity of a

particle performing uniform circular motion?

° Watch Video Solution

71. Answer the following questions:
State Newton's first law of motion. Why is it

called the law of inertia?

° Watch Video Solution



https://dl.doubtnut.com/l/_3gQDff9uTGit
https://dl.doubtnut.com/l/_VxbsSSX39LIp

72.What are the effects of a force acting on an

object?

o Watch Video Solution

73. Answer the following questions:
Give any two examples of force in each case:

Lifts

o Watch Video Solution



https://dl.doubtnut.com/l/_aaGxdSMst4Rv
https://dl.doubtnut.com/l/_KpzEwVdXcDE0

74. Answer the following questions:
Give any two examples of force in each case:

Pushes

o Watch Video Solution

75. Answer the following questions:
Give any two examples of force in each case:

Pulls

o Watch Video Solution



https://dl.doubtnut.com/l/_ZbZlHn2ZOvwY
https://dl.doubtnut.com/l/_pH1mmmo5C86f
https://dl.doubtnut.com/l/_heGrEtEF7OHd

76. Answer the following questions:
Give any two examples of force in each case:

attracts

o Watch Video Solution

77. Answer the following questions:
Give any two examples of force in each case:

Changes the shape of the object.

o Watch Video Solution



https://dl.doubtnut.com/l/_heGrEtEF7OHd
https://dl.doubtnut.com/l/_rKWIJAdKLEEY
https://dl.doubtnut.com/l/_l5dHYvuSTdIl

78. Answer the following questions:

Give one example in which force is not visible.

° Watch Video Solution

79. Answer the following questions:

Give one example of visible effect of force.

o Watch Video Solution

80. Answer the following questions:

Define force.


https://dl.doubtnut.com/l/_l5dHYvuSTdIl
https://dl.doubtnut.com/l/_SXdCB1zU2ZU9
https://dl.doubtnut.com/l/_DgY7jp9RHCeP

° Watch Video Solution

81. Answer the following questions:
Explain the statement: Force is an interaction

between two objects.

° Watch Video Solution

82. Answer the following questions:

Force has magnitufe as well as direction.

o Watch Video Solution



https://dl.doubtnut.com/l/_DgY7jp9RHCeP
https://dl.doubtnut.com/l/_SJVp15FZMA2I
https://dl.doubtnut.com/l/_TfdXE9fZ4i4s

83. Answer the following questions:

Force is a vector quantity. Explain.

° Watch Video Solution

84. Answer the following questions:
What happens when a force is applied at right

angles to the direction of motion if a body.

° Watch Video Solution



https://dl.doubtnut.com/l/_TfdXE9fZ4i4s
https://dl.doubtnut.com/l/_45HUt276chOf
https://dl.doubtnut.com/l/_Q2upovD9cP0X
https://dl.doubtnut.com/l/_XXbW9gETXww2

85. Answer the following questions:

Explain the term balanced forces.

o Watch Video Solution

86. Answer the following questions:

Explain the term unbalanced force.

° Watch Video Solution

87. Answer the following questions:

What will happen if the force is

removed


https://dl.doubtnut.com/l/_XXbW9gETXww2
https://dl.doubtnut.com/l/_vd8TsAWipZpI
https://dl.doubtnut.com/l/_yG51IXnV7ERG

completely when an object acquires a certain

speed?

° Watch Video Solution

88. Answer the following questions:

What is inertia?

o Watch Video Solution

89. Answer the following questions:

Which of the following has more inertia? A


https://dl.doubtnut.com/l/_yG51IXnV7ERG
https://dl.doubtnut.com/l/_f0Z57wz0wsGl
https://dl.doubtnut.com/l/_3Yi9WoMJJWTe

ten-rupee coin and a one-rupee coin.

o Watch Video Solution

90. Answer the following questions:

What are the three types of interia?

° Watch Video Solution

91. Answer the following questions:

What is inertia of rest ?

o Watch Video Solution



https://dl.doubtnut.com/l/_3Yi9WoMJJWTe
https://dl.doubtnut.com/l/_UehYrtE2tbMl
https://dl.doubtnut.com/l/_YvA7TPLCXVj7

92. Answer the following questions:
Define inertia of rest. Give two examples of

inertia of rest.

o Watch Video Solution

93. Answer the following questions:

What is inertia of motion?

° Watch Video Solution



https://dl.doubtnut.com/l/_YvA7TPLCXVj7
https://dl.doubtnut.com/l/_6cFsXVwEWZlZ
https://dl.doubtnut.com/l/_K6kUOYrYx4au
https://dl.doubtnut.com/l/_8k4A7L1H7X92

94. Answer the following questions:
Define inertia of motion. Give two examples of

inertia of motion.

° Watch Video Solution

95. Answer the following questions:

What is inertia of direction?

o Watch Video Solution



https://dl.doubtnut.com/l/_8k4A7L1H7X92
https://dl.doubtnut.com/l/_wGyHJEqEuib5

96. Answer the following questions:
Define inertia of direction. Give two examples

of inertia of direction.

o Watch Video Solution

97. Answer the following questions:
why do we fall sideways when we are sitting in

a bus and it takes a sharp turn?

o Watch Video Solution



https://dl.doubtnut.com/l/_hV6oxmle4Zud
https://dl.doubtnut.com/l/_FiLRxjfGxP16
https://dl.doubtnut.com/l/_ih7mIjPTcbfO

98. Answer the following questions:
What happens when you shake a wet piece of

cloth? Explain your observation.

o Watch Video Solution

99. Answer the following questions:
If brakes are suddenly applied to a moving car,
the passengers in the car are pushed in the

forward direction. Explain why.

o Watch Video Solution



https://dl.doubtnut.com/l/_ih7mIjPTcbfO
https://dl.doubtnut.com/l/_wyIWcZ0jI4tk

100. Answer the following questions:
We experience a backward push when the bus

starts at once. Explain why.

o Watch Video Solution

101. Answer the following questions:
A person alighting from a moving train is likely
to fall in the direction of motion of the train.

Explain why.

° Watch Video Solution



https://dl.doubtnut.com/l/_OCq9eyCJGJsQ
https://dl.doubtnut.com/l/_GZj5zMeFJxmE

102. Answer the following questions:

Define momentum. State its S| and CGS units.

o Watch Video Solution

103. Answer the following questions:

When a bullet is fried from a gun, it pierces
through a wooden plank, but the same bullet
when thrown with hand hardly scratches it.

Explain why.

o Watch Video Solution



https://dl.doubtnut.com/l/_GZj5zMeFJxmE
https://dl.doubtnut.com/l/_3bMnI37gG9xw
https://dl.doubtnut.com/l/_4v0MIixGlrRj

104. Answer the following questions:
Children play cricket with a tennis ball easily

but are afraid of playinf with a cork ball. Why?

o Watch Video Solution

105. Answer the following questions:

Stat Newton's second law of motion.

° Watch Video Solution



https://dl.doubtnut.com/l/_4v0MIixGlrRj
https://dl.doubtnut.com/l/_t9X6bJi3rIxh
https://dl.doubtnut.com/l/_19x0ddQAeyWU
https://dl.doubtnut.com/l/_gHivNwJOdTBu

106. Answer the following questions:
Show that Newton's first law of motion can be

obtained from Newton's second law of motion.

° Watch Video Solution

107. Answer the following questions:

Obtain the force equation.

o Watch Video Solution



https://dl.doubtnut.com/l/_gHivNwJOdTBu
https://dl.doubtnut.com/l/_av5ylonTRJQF

108. Answer the following questions:
Show that Newton's first law of motion can be

obtained from Newton's second law of motion.

o Watch Video Solution

109. Answer the following questions:
Deduce Newton's first law of motion from the

force equation.

o Watch Video Solution



https://dl.doubtnut.com/l/_PuOTB79grhCz
https://dl.doubtnut.com/l/_vWHFEujHbbq1
https://dl.doubtnut.com/l/_3Jj7ytqBgyWV

110. Answer the following questions:

What is meant by a unit force?

o Watch Video Solution

111. Answer the following questions:
State the SI and CGS units of force. Define

them.

o Watch Video Solution



https://dl.doubtnut.com/l/_3Jj7ytqBgyWV
https://dl.doubtnut.com/l/_gNlXDfyXP7Pl

112. Answer the following questions:
Obtain the relation between the newton and

the dyne.

o Watch Video Solution

113. Answer the following questions:

what do you understand by interaction forces?

° Watch Video Solution



https://dl.doubtnut.com/l/_QTajV88HhZb4
https://dl.doubtnut.com/l/_PR32Cdc6uX5v

114. Answer the following questions:
What do you understand by the forces of

action and reaction.

o Watch Video Solution

115. Answer the following questions:
Explain : Force always occur in pairs or an
isolated single force does not exist in the

universe.

° Watch Video Solution



https://dl.doubtnut.com/l/_Pmps6dPRFbJD
https://dl.doubtnut.com/l/_4aAiRqh8qLIl

116. Answer the following questions:

State Newton's third law of motion.

o Watch Video Solution

117. Answer the following questions:
Give four examples of Newton's third law of

motion.

o Watch Video Solution



https://dl.doubtnut.com/l/_4aAiRqh8qLIl
https://dl.doubtnut.com/l/_raQNHM9qRWCJ
https://dl.doubtnut.com/l/_2YcFj2SgBHZG
https://dl.doubtnut.com/l/_MmhX56dz3v9d

118. Answer the following questions:
When a scooter and a truck collide, the

scooter is thrown away. Explain why.

o Watch Video Solution

119. Answer the following questions:
Explain the principle on which the launching

of a rocket is based.

o Watch Video Solution



https://dl.doubtnut.com/l/_MmhX56dz3v9d
https://dl.doubtnut.com/l/_uSZ4M8fOikeE

120. State and prove the law of conservation of

linear momentum.

o Watch Video Solution

121. State and prove the law of conservation of

linear momentum.

o Watch Video Solution



https://dl.doubtnut.com/l/_u70ovuExLF54
https://dl.doubtnut.com/l/_fcDzz3ahyUCw

122. Answer the following questions:
Give two examples illustrating the law of

conservation of momentum.

o Watch Video Solution

123. Answer the following questions:
When a bullet is fired from a gun, the gun

recoils. Explain why.

o Watch Video Solution



https://dl.doubtnut.com/l/_R0eTJUVfLtLh
https://dl.doubtnut.com/l/_ZuZRajS0KmI7
https://dl.doubtnut.com/l/_8oh7zNFJUxce

124. Answer the following questions:

Why is the stock of a gun made heavy?

° Watch Video Solution

125. Answer the following questions:
Take 5 examples from your surroundings and
give explanation based on Newton's law of

motion.

o Watch Video Solution



https://dl.doubtnut.com/l/_8oh7zNFJUxce
https://dl.doubtnut.com/l/_D5qEOMXHSbpz
https://dl.doubtnut.com/l/_4vRrP3MNlUsX

126. Use your brain power:

A

Every morning, Swaralee walks round the edge
of a circular field having a radius of 100 m. As
shown in Figure, if she starts from the point A
and takes one round, how much distance has

she walked and what is her displacement?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_4vRrP3MNlUsX

127. Use your brain power:

= =
Q

.
P 360 metres

If a car, starting from point P, goes to point Q
and then returns to point P (see Figure), how
much distance has it travelled and what is its

displacement?

o Watch Video Solution



https://dl.doubtnut.com/l/_4vRrP3MNlUsX
https://dl.doubtnut.com/l/_P4lP9vth5Owi

128. Use your brain power:

Effect of speed and direction on velocity.
Sachin is travelling on a motorbike. Explain
what will happen in the following events
during sachin's ride see figure.

What will be effect on the velocity of the

motorcycle if its speed increase or decreases.


https://dl.doubtnut.com/l/_3dWFYpq4Xl4N

but its direction remains unchanged?

° Watch Video Solution

129. Use your brain power:

Effect of speed and direction on velocity.


https://dl.doubtnut.com/l/_3dWFYpq4Xl4N
https://dl.doubtnut.com/l/_pN2SGS4uG134

Sachin is travelling on a motorbike. Explain
what will happen in the following events
during sachin's ride see figure.

In case of a turning on the road, will the
motorcycle, keeping its speed constant, what

will be the effect on the velocity?



https://dl.doubtnut.com/l/_pN2SGS4uG134

Watch Video Solution

130. Use your brain power:

Amar, Akbar and Anthony are travelling in
different cars with different velocities. The
distance covered by them during different
time intervals are given in the following table.
What is the time interval between the noting's

of distances made by Amar, Akbar and


https://dl.doubtnut.com/l/_pN2SGS4uG134
https://dl.doubtnut.com/l/_81X1rWMAYa5P

Anthony?

__ | ADTs;am;_ Distance ] Distance
Time.ln covered by | covered by |covered by
10 Amar in Akbar in |Anthony in
A km km _ km
5400 o | o | o
5:30 20 fL _IB B | 14 -
6:00 a0 | % | 2B
6:30 60 | 4 | a2
T:00 80 70 ]| 56
|
T7:30 100 95 | 70
8:00 120 120 | 84

o Watch Video Solution

131. Use your brain power:

Amar, Akbar and Anthony are travelling in

different cars with different velocities. The


https://dl.doubtnut.com/l/_81X1rWMAYa5P
https://dl.doubtnut.com/l/_2veImCJ3MTwr

distance covered by them during different

time intervals are given in the following table.

Who has covered equal distance in equal time

intervals?
_ Disfam;_ . Distance Distance
Time In covered by | covered by |covered by
1L Amar in Akbar in |Anthony in
clock e _ ?““ | -
— o | o | ¢
5:30 20 ’L IB_ | ) 14 B
 6:00 0 | % | 28
6:30 60 | 4 | e
7:00 80 0 | 5%
|
7:30 100 95 | 70
8:00 120 120 | 84

o Watch Video Solution



https://dl.doubtnut.com/l/_2veImCJ3MTwr

132. Use your brain power:

Amar, Akbar and Anthony are travelling in
different cars with different velocities. The
distance covered by them during different
time intervals are given in the following table.

Are all the distances covered by Akbar in the


https://dl.doubtnut.com/l/_XLW9XBvgxctP

fixed time intervals the same?

“, g [ D;s;am;_ . Distance Distance
Time.ln covered by | covered by |covered by
10 Amar in Akbar in |Anthony in
clock - ___‘km | =
5400 o | o | o
5:30 20 ’L _IB ] | 14 -
6:00 0 | % | B
6:30 g0 | 4 |
| b . o
T:00 80 70 | 56
|
T7:30 100 95 I 70
8:00 120 120 | 84

o Watch Video Solution

133. Use your brain power:
Amar, Akbar and Anthony are travelling in

different cars with different velocities. The


https://dl.doubtnut.com/l/_XLW9XBvgxctP
https://dl.doubtnut.com/l/_PcMgRlTRdViC

distance covered by them during different
time intervals are given in the following table.
Considering the distances covered by Amar,
Akbar, Anthony in fixed time intervals, what

can you say about their speeds?

. ___ ) Disianc; DistanceT Distance
L covered by | covered by [covered by
10 Amar in Akbar in |Anthony in
clock km | J‘E__,_l kil
5:00 o | o | o
5:30 20 [ _ _18___~:_ _1_4__ )
6:00 40 :' 36 .
6:30 60 | 4 | a2
7:00 80 | 0 | 6
7:30 100 95 | 70
8:00 120 120 | 84

° Watch Video Solution



https://dl.doubtnut.com/l/_PcMgRlTRdViC
https://dl.doubtnut.com/l/_9OmOFLGdBgLh

134. Use your brain power:
When an object is at rest in the beginning of

its motion, what is its initial velocity?

° Watch Video Solution

135. Use your brain power:
When an object come to rest at the end of its

motion, what is its final velocity?

° Watch Video Solution



https://dl.doubtnut.com/l/_9OmOFLGdBgLh
https://dl.doubtnut.com/l/_lPYBEtr7HmG3
https://dl.doubtnut.com/l/_MhL6J0uty2fx

136. Use your brain power:
Why is there a thick bed of sand for a high

jumper to fall on after his jump?

° Watch Video Solution

137. Use your brain power:

While hitting a ball with a bat, the speed of
the bat decreases.

How will you explain these with the help of

Newton’s third law of motion?

° Watch Video Solution



https://dl.doubtnut.com/l/_MhL6J0uty2fx
https://dl.doubtnut.com/l/_TS0QoATuXiiW

138. Answer the following questions:
When a bullet is fired from a gun, the gun

recoils. Explain why.

o Watch Video Solution

139. Use your brain power:
Mechanism of firing of a rocket.
How will you explain these with the help of

Newton’s third law of motion?

| I


https://dl.doubtnut.com/l/_TS0QoATuXiiW
https://dl.doubtnut.com/l/_5hMldtNbGpLX
https://dl.doubtnut.com/l/_hUiV85Dk1KzS

| ¥ Watch Video Solution |

140. Give scientific reasons:
The velocity of an object at rest is considered

to be uniform.

o Watch Video Solution

141. Give scientific reasons:
When an object falls freely to the ground, its

acceleration is uniform.

o Watch Video Solution



https://dl.doubtnut.com/l/_hUiV85Dk1KzS
https://dl.doubtnut.com/l/_58ISeehaAVWo
https://dl.doubtnut.com/l/_HuAT1Rjv0ON2

142. Give scientific reasons:

Even though the magnitudes of action force
and reaction force are equal and their
directions are opposite, their effects do not

get cancelled.

o Watch Video Solution

143. Give scientific reasons:

It is easier to stop a tennis ball as compared


https://dl.doubtnut.com/l/_HuAT1Rjv0ON2
https://dl.doubtnut.com/l/_8INsaKVxvDyt
https://dl.doubtnut.com/l/_Ccur82FSVXQD

to a cricket ball, when both are travelling with,

the same velocity.

° Watch Video Solution

144. Distinguish between:

Distance and Displacement:

o Watch Video Solution

145. Differentiate between

Uniform rectilinear motion and Non-Uniform


https://dl.doubtnut.com/l/_Ccur82FSVXQD
https://dl.doubtnut.com/l/_FFAtljqM8wkp
https://dl.doubtnut.com/l/_23zCwNVctxie

rectilinear motion

o Watch Video Solution

146. Complete the following paragraph:
(Words given: chemical reactions, upward,
downward, burns, compressed, fuel)

Launching of a rocket is based on Newton's
laws of motion. When the ... in the rocket is
ignited, it ... as a result of ........ and the ...
hot gases are thrown out with a tremendous

force in the .. direction, through a small


https://dl.doubtnut.com/l/_23zCwNVctxie
https://dl.doubtnut.com/l/_p3BswFfp3Lkt

opening in the tail of the rocket. At the same
time, the escaping gases exert an equal (in
magnitude) and opposite (in direction force of
reaction on the rocket in the..... direction. As
this force is greater than the net downward
force (in magnitude) due to gravity and air
resistance, the velocity of the rocket increases

as it moves upward.

o Watch Video Solution



https://dl.doubtnut.com/l/_p3BswFfp3Lkt

147. Solve the following examples: (numerical
problems)

A person travels a distance of 72 km in 4

.. m
hours. Calculate the average speed in —.
s

o Watch Video Solution

148. Solve the following examples: (numerical
problems)

An object moves 18 m in the first 3 seconds, 22


https://dl.doubtnut.com/l/_a7lu4pYBp0Z5
https://dl.doubtnut.com/l/_Qjl2FuyqTcp9

m in the next 3 seconds and 14 m in the last 3

seconds. What is its average speed?

° Watch Video Solution

149. Solve the following examples: (numerical
problems)

A person swims 100 m in the first 405,80 m in
the next 40 s and 45 m in the last 20 s. What is

the average speed?

° Watch Video Solution



https://dl.doubtnut.com/l/_Qjl2FuyqTcp9
https://dl.doubtnut.com/l/_EhKrxoeCBa5f
https://dl.doubtnut.com/l/_0otJAhe8lJRs

150. Solve the following examples: (numerical
problems)
A body moves along a straight line at a

. m .
velocity of 10 — for 10 s and then at a velocity
s

m . :
of 15 — for 15 s. Find the average velocity of
S

the body.

o Watch Video Solution

151. Solve the following examples: (numerical
problems)

A boy runs on a circular track of length 600 m


https://dl.doubtnut.com/l/_0otJAhe8lJRs
https://dl.doubtnut.com/l/_RB9ClborSevZ

in 2 minutes and returns to the starting point.
Calculate his average speed and average

velocity.

° Watch Video Solution

152. Solve the following examples: (numerical
problems)

A body moves in a straight line with a uniform
acceleration. If the initial velocity of the body
is 5 m/s and the velocity after 10 s is 15 m/s,

find the acceleration of the body and

| e |


https://dl.doubtnut.com/l/_RB9ClborSevZ
https://dl.doubtnut.com/l/_bYkFgqvEQOwc

& watch Video Solution I

153. Solve the following examples: (numerical
problems)
A body moves in a Straight line with a uniform
acceleration of 2 — - If the initial velocity of
s
. m .
the body is 10 0 find the velocity of the body

after covering 75 m and the time taken by the

body to attain this velocity.

° Watch Video Solution



https://dl.doubtnut.com/l/_bYkFgqvEQOwc
https://dl.doubtnut.com/l/_ltcjKnuVIUrr

154. Solve the following examples: (numerical
problems)
A body of mass 10 kg moves with a velocity of

5 m/s. Find its momentum.

o Watch Video Solution

155. Solve the following examples: (numerical
problems)
An object of mass 16 kg moving with an

acceleration of 3 m/s® ?, Calculate the


https://dl.doubtnut.com/l/_4C0djq04WyIF
https://dl.doubtnut.com/l/_ClnjQTZbZbtn

applied force. If the same force is applied on
an object, of mass 24 kg, how much will be the

acceleration ?

° Watch Video Solution

156. Solve the following examples: (numerical

problems)

A car of mass 1800 kg moving with a speed of
m . :

10 — is brought to rest after covering a
s

distance of 50 m. Calculate the force applied

to the car.

| e |


https://dl.doubtnut.com/l/_ClnjQTZbZbtn
https://dl.doubtnut.com/l/_7cGYqyHJ3v0P

& watch Video Solution I

157. Solve the following examples: (numerical
problems)

A body of mass 5 kg moves in a straight line
with an acceleration of 2 m/s*?. Find the
change in the momentum of the body in 2

seconds.

o Watch Video Solution



https://dl.doubtnut.com/l/_7cGYqyHJ3v0P
https://dl.doubtnut.com/l/_kvrXd5yo0al8

158. Solve the following examples: (numerical
problems)

A bullet having a mass of 10 g and moving
. m .
with a speed of 15 - penetrates a thick
wooden plank of mass 90 g. The plank was
initially at rest. The bullet gets embedded in

the plank and both move together. Determine

their velocity.

o Watch Video Solution



https://dl.doubtnut.com/l/_UPhiCHVvfwUK

159. Solve the following examples: (numerical
problems)

A shell of mass 10 kg is fired from a gun of
mass 600 kg. The gun recoils with a velocity of

m . :
6 —. Find the muzzle velocity of the shell.
s

o Watch Video Solution

160. Solve the following examples: (numerical
problems)

A body of mass 1 kg, moving with a velocity of


https://dl.doubtnut.com/l/_rq0YpBkYyN1D
https://dl.doubtnut.com/l/_UpW2CFqqGsCO

4 % collides with a body of mass 0.5 kg

moving with a velocity of 2 —. If the velocity
s

8
of the first body after collision is g%, find

the velocity of the second body after collision.

o Watch Video Solution

161. Solve the following examples: (numerical
problems)

A particle of mass 10%(-10)' kg moves in a
straight line. Figure shows how its speed

changes with time. Answer the following


https://dl.doubtnut.com/l/_UpW2CFqqGsCO
https://dl.doubtnut.com/l/_OzdbHHQrNP8z

questions based on it.

11 i ; : ;
11.85s) 275
oll| | (TPl | | | S
1 Ca2 D3 4 5 n
Time (s) —

Find the average acceleration of the particle in

the time OC..

° Watch Video Solution



https://dl.doubtnut.com/l/_OzdbHHQrNP8z

162. Solve the following examples: (numerical
problems)

A particle of mass 10%(-10) kg moves in a
straight line. Figure shows how its speed
changes with time. Answer the following

questions based on it.

B a1 :
-E ] 1 [}
g Fo|g :
Z P :
11 Al : '.
t1.85s; 2.7s P -
Bl LT [ N E'ly 'i
1 €2 D3 4 5 6 !



https://dl.doubtnut.com/l/_s4gGDvSOzAZc

Find the average acceleration of the particle in

the interval C'D..

o Watch Video Solution

163. Solve the following examples: (numerical
problems)

A particle of mass 10%(-10)' kg moves in a
straight line. Figure shows how its speed
changes with time. Answer the following

questions based on it.


https://dl.doubtnut.com/l/_s4gGDvSOzAZc
https://dl.doubtnut.com/l/_aq2VBSuVPMSr

Time (5) —=

Find the momentum of the particle at t=1.85s.

° Watch Video Solution

164. Solve the following examples: (numerical
problems)

A particle of mass 10%(-10)' kg moves in a


https://dl.doubtnut.com/l/_aq2VBSuVPMSr
https://dl.doubtnut.com/l/_v6peuDZno8fC

straight line. Figure shows how its speed
changes with time. Answer the following

questions based on it.

Time (s) —=

At what point in the graph is the speed of the

particle minimun?

0 Watch Video Solution



https://dl.doubtnut.com/l/_v6peuDZno8fC
https://dl.doubtnut.com/l/_43xpZdrt9Uki

165. Solve the following examples: (numerical
problems)

A particle of mass 10%(-10)' kg moves in a
straight line. Figure shows how its speed
changes with time. Answer the following

questions based on it.

E Bl [ | |
-E [ 1 [
2, : ! :
wn H . i
11 | ; : ;
11.85s) 275 U ame
B B N, \ _ E'y o
1 €2 D3 4 5 6 |



https://dl.doubtnut.com/l/_43xpZdrt9Uki

Find the average force acting on the particle

in the time interval B'C'.

o Watch Video Solution

166. A body covers 10 m in the first 5 s and 20

m in the next 5 s. Find its average speed.

o Watch Video Solution

167. A body moves with a velocity of 10 % for

m
10 s and then with a velocity of 20 — in the
s


https://dl.doubtnut.com/l/_43xpZdrt9Uki
https://dl.doubtnut.com/l/_v0zDQtTgwf5N
https://dl.doubtnut.com/l/_tKuNRqccxLcc

same direction for 40 s. Find its average

velocity.

o Watch Video Solution

168. A body moves from A to B at a speed of 10
m/s and back to A along the same path at a
speed of 20 m/s. Find its average speed and
average velocity for the journey.

[Hint : If s is the distance covered by the body

between A and B, average speed =

28 28 211 V9

t1 + 2 (i) 4+ (i) v1 + U


https://dl.doubtnut.com/l/_tKuNRqccxLcc
https://dl.doubtnut.com/l/_wqUeVSRz9jrz

o Watch Video Solution

169. A body moves with a uniform speed along
the circumference of a circle of radius 7 m, If it

completes one revolution in 11 s, find its speed.

o Watch Video Solution

km

170. The speed of a car is60 . Find the

hour

distance covered by the car in 10 minutes,

o Watch Video Solution



https://dl.doubtnut.com/l/_wqUeVSRz9jrz
https://dl.doubtnut.com/l/_3Aj8EJjD2C6U
https://dl.doubtnut.com/l/_lANYYk4DonO4

171. A car takes 20 minutes to cover a distance

of 94 km. Find its speed in ﬁ.
S

° Watch Video Solution

172. The velocity of a car increases from 15

km km . .o .
T to 33 T in 20 s. Find its acceleration.

o Watch Video Solution



https://dl.doubtnut.com/l/_lANYYk4DonO4
https://dl.doubtnut.com/l/_t9hGB5pJG8m0
https://dl.doubtnut.com/l/_hWLuzWtex5gt

173. The velocity of a car decreases from 43

km km . R :
— to 25 5 in 10 s. Find its retardation.

h

° Watch Video Solution

174. A body moves with a uniform acceleration

and its initial velocity is 5 —. After 10
S

seconds, its velocity becomes 25 —. Find the
s

acceleration of the body.

o Watch Video Solution



https://dl.doubtnut.com/l/_sLQ0iqNvuJKj
https://dl.doubtnut.com/l/_9ioVbuak1gqg
https://dl.doubtnut.com/l/_uRnWLcpLROMD

175. A body moves with a uniform acceleration
of 0.5m /s%. If its initial velocity is 20 m /s,

find its velocity after 6 seconds.

o Watch Video Solution

176. A body moves with a uniform acceleration
of 2 m /s2. If its initial velocity is 10 m / s, after
how many seconds, will its velocity become 40

m/s?

° Watch Video Solution



https://dl.doubtnut.com/l/_uRnWLcpLROMD
https://dl.doubtnut.com/l/_xqK8cX93LVpy

177. A body moves with a uniform acceleration
of 3m/s* After 10 seconds, its velocity
becomes 50 m /s. Find the initial velocity of

the body.

° Watch Video Solution

178. A body starts from rest and moves with a
uniform acceleration of 4m /s*?. Calculate the

displacement of the body in 10 seconds.

° Watch Video Solution



https://dl.doubtnut.com/l/_QyfPK7IZQ5hm
https://dl.doubtnut.com/l/_TItPQImmERHN

179. A body starts from rest and moves with an
acceleration of 2m /s’ Find the distance
covered by the body in the 10th second of its
motion.

[[Hint : Distance covered in the 10th second =
distance covered in 10 s — distance covered in

9 s]

o Watch Video Solution



https://dl.doubtnut.com/l/_TItPQImmERHN
https://dl.doubtnut.com/l/_2UQlykB25mr0

180. The initial velocity of a body is 10 m /s. If
it is moving with a uniform acceleration of
3m /s® in the direction of motion, calculate
the distance covered by the body in 20

seconds.

o Watch Video Solution

181. Brakes are applied to a train moving with a
velocity of 20 m/s. If the train comes to a halt

after 10 seconds, calculate the acceleration of


https://dl.doubtnut.com/l/_WTGXbxNy54iF
https://dl.doubtnut.com/l/_QONe4gYs1MBK

the train. Find the distance covered by the

train after the brakes are applied.

° Watch Video Solution

182. A car starts from rest and moves with a
uniform acceleration of 1 m/s*? for 10
seconds. It then moves with a uniform velocity
for 30 seconds. The brakes are then applied
and the car is brought to rest in 10 seconds.

Find the total distance covered by the car.

° Watch Video Solution



https://dl.doubtnut.com/l/_QONe4gYs1MBK
https://dl.doubtnut.com/l/_Wl4BsGoylxdp

183. A body starting with an initial velocity of 5
m /s, moves with a uniform acceleration of
2m / s*. After some time it attains a velocity of
13 m / s. Find the distance covered by the body

during this period.

o Watch Video Solution

184. A body starting with an initial velocity of 4
m /s, moves with a uniform acceleration of

0.5m / 5. After some time its velocity becomes


https://dl.doubtnut.com/l/_Wl4BsGoylxdp
https://dl.doubtnut.com/l/_es4hwnPmRWGx
https://dl.doubtnut.com/l/_ouM25ypKSARd

6 m /s. Calculate the time taken by the body
to attain this velocity and the distance

covered by it during this time interval.

° Watch Video Solution

185. In a certain time interval, the velocity of a
car reduces from 72 km/h to 36 km/h. If the car
covers a distance of 150 m during this time

interval, find the retardation of the car.

° Watch Video Solution



https://dl.doubtnut.com/l/_ouM25ypKSARd
https://dl.doubtnut.com/l/_0k9559Ga3NL5
https://dl.doubtnut.com/l/_Ys2c5oJyzZhA

186. A car starts from rest and moves with a
uniform acceleration of 2m /s*. What will be
its velocity after it covers a distance of 49 m?
How much time will it take to cover the

distance of 49 m?

o Watch Video Solution

187. Solve the following examples: (numerical
problems)
A body of mass 10 kg moves with a velocity of

5 m/s. Find its momentum.


https://dl.doubtnut.com/l/_Ys2c5oJyzZhA
https://dl.doubtnut.com/l/_NYHYxgsZRaVp

° Watch Video Solution

188. If the momentum of a body of mass 10 kg

is 20 kg m / s, find its velocity.

o Watch Video Solution

189. A force of 20 N acts on a body at rest.

What will be its momentum after 10 seconds?

° Watch Video Solution



https://dl.doubtnut.com/l/_NYHYxgsZRaVp
https://dl.doubtnut.com/l/_L62OzFxG1TIv
https://dl.doubtnut.com/l/_ATKFUv4WjHc5
https://dl.doubtnut.com/l/_jTsS6icnBuuw

190. A body of mass 5 kg moves with an
acceleration of 4—2 in a straight line. What
s

will be the change in its momentum in 2

seconds?

o Watch Video Solution

191. Calculate the force required to produce an

. m .
| acceleration of 0.2—> in a body of mass 10
s

kg.

o Watch Video Solution



https://dl.doubtnut.com/l/_jTsS6icnBuuw
https://dl.doubtnut.com/l/_3nmUVzWfTaaC

192. A certain force acts on a body at rest. If
after 10 seconds the body moves with a
velocity of 20 — and if its mass is 3 kg, find

S

the magnitude of the force acting on the body.

o Watch Video Solution

193. A body of mass 20 kg is initially at rest. A
force of 10 N is applied to the body. Find the

velocity of the body after 10 seconds and the


https://dl.doubtnut.com/l/_aFm0JQ4MECoi
https://dl.doubtnut.com/l/_JMqHiRBHdukO

distance covered by it in the ten seconds on

application of the force.

° Watch Video Solution

194. A body of mass 1 kg moves with an initial

velocity of 15—. If its velocity changes to 25

S
% in 5 seconds, find the force acting on the
body.

o Watch Video Solution



https://dl.doubtnut.com/l/_JMqHiRBHdukO
https://dl.doubtnut.com/l/_gtK1D7xawH2r

195. A shell of mass 6 kg is fired from a gun of

mass 600 kg. If the recoil velocity of the gun is

m
3 —, find the muzzle velocity of the shell.
s

o Watch Video Solution

196. A body of mass 2 kg collides with a body

of mass 1 kg. Their initial velocities are 6 —
s

and 4 = respectively. If the velocity of the

s
14
first body after collision is : ?%, find the

velocity of the second body after collision.

| & |


https://dl.doubtnut.com/l/_koewYN25wdOR
https://dl.doubtnut.com/l/_pCeUp6f9yiJD

| ¥ Watch Video Solution



https://dl.doubtnut.com/l/_pCeUp6f9yiJD

